Zehner-1-1 im Kopf
Zahlraum bis 1000

Name: Datum:
(1) Notiere die Ergebnisse.
A,
8¢,
a) b) c) d) &
(2) Rechne.
800 - 200 = 1000 - = 400
&
900 - 500 = 1000 - = 200 &
700 - 300 = 1000 - = 700 2N
(3) Erginze
450 + = 500 650 + = 1000 )
920 + - 1000 180 + - 1000 6%
730 + - 800 470 + = 1000 Y
(4) Rechne.
300 - 70 = 280 - 200 =
630 - 5 = 570 - 50 = @
300 - 200 = 700 - 3 = @
450 - 6 = 960 - 40 - SN
(B) Zihle riickwirts.
in 10er Schritten , , , , , 760,770 ap
(&)
in 50er Schritten , , , , , 600, 650 @
in 20er Schritten , , ) , , 460, 480 (&Y
(6) Halbiere.
Zahl 400 600 880 540 920 GO
D
,L_m/
Die Hdlfte 200 Q




